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September 26, 2002
All work must be show to receive credit.  Answers should be in scientific notation and to the correct number of significant figures.
1. (6 points)  If 34.22 mL of a sodium hydroxide solution are required to titrate 25.00 mL of a 0.2044 M solution of hydrochloric acid, what is the molarity of the sodium hydroxide solution?
2. (6 points) Fill in the following table

	[H3O+]
	[OH-]
	pH
	pOH

	
	3.724 x 10-9M


	
	

	
	
	9.4562


	


3. (8 points)  A 354.2 mL sample of 0.1055 M sulfuric acid (H2SO4) was mixed with 529.1 mL of a 0.1327 M solution of sodium hydroxide.  Calculate the pH, pOH, [Na+1], and [SO4-2].  Assume the volume of any water produced is negligible.
